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Paper 1 Markscheme

Instructions to Examiners

The number of marks for each question has been increased to 8. Where there are 2
marks (e.g. M2, A2) for an answer do NOT split the marks unless otherwise instructed.

Method of Marking

(a)  All marking must be done using a red pen.

(b)  In this paper, the maximum mark is awarded for a correct answer, irrespective of the method
used. Thus, if the correct answer appears in the answer box, award the maximum mark and
move onto the next question; in this case there is no need to check the method.

(c) If an answer is wrong, then marks should be awarded for the method according to the
markscheme. (A correct answer incorrectly transferred to the answer box is awarded the
maximum mark.)

Abbreviations

The markscheme may make use of the following abbreviations:

M

A

Marks awarded for Method
Marks awarded for an Answer or for Accuracy

Marks awarded for correct solutions, generally obtained from a Graphic Display Calculator,
irrespective of working shown

Marks awarded for Correct answers (irrespective of working shown)

Marks awarded for clear Reasoning

Follow Through (ft) Marks

Errors made at any step of a solution can affect all working that follows. To limit the severity of the
penalty, follow through (ft) marks should be awarded. The procedures for awarding these marks
require that all examiners:

(@
(i)

(iii)

penalize the error when it first occurs;

accept the incorrect answer as the appropriate value or quantity to be used in all subsequent
working;

award M marks for a correct method and A(ft) marks if the subsequent working contains no
further errors.

Follow through procedures may be applied repeatedly throughout the same problem.
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The following illustrates a use of the follow through procedure.

Markscheme Candidate’s Script Marking

$ 600 x 1.02 M1 | Amountearned =$ 600 x 1.02 v Mli
=$612 Al =$602 X A0

$ (306 x 1.02) + (306 x 1.04) M1 | Amount =301 x 1.02 + 301 x 1.04 / Ml
=$630.36 Al =$620.06 J/ AI(ft)

Note that the candidate made an arithmetical error at line 2; the candidate used a correct method at
lines 3, 4; the candidate’s working at lines 3, 4 is correct.

However, if a question is transformed by an error into a different, much simpler question then:

(@
(i)

(iii)

fewer marks should be awarded at the discretion of the Examiner;

marks awarded should be followed by “(d)” (to indicate that these marks have been awarded at
the discretion of the Examiner);

a brief note should be written on the script explaining how these marks have been awarded.

Using the Markscheme

(a)

(b)

(c)

This markscheme presents a particular way in which each question may be worked and how it
should be marked. Alternative methods have not always been included. Thus, if an answer is
wrong then the working must be carefully analysed in order that marks are awarded for a
different method in a manner which is consistent with the markscheme.

In this case:

(i) a mark should be awarded followed by “(d)” (to indicate that the marks have been
awarded at the discretion of the Examiner);

(ii)) a brief note should be written on the script explaining how these marks have been
awarded.

Where alternative methods for complete questions are included, they are indicated by
METHOD 1, METHOD 2, etc. Other alternative solutions, including graphic display
calculator alternative solutions are indicated by OR. For example:

Mean = 7906/134 M1)
=59 (Al)

OR

Mean = 59 (G2)

sin@

Unless the question specifies otherwise, accept equivalent forms. For example: for tan@ .

cosé

On the markscheme, these equivalent numerical or algebraic forms will be written in brackets
after the required answer. Paper setters will indicate the required answer, by allocating full
marks at that point. Further working should be ignored, even if it is incorrect. For example: if
candidates are asked to factorize a quadratic expression, and they do so correctly, they are
awarded full marks. If they then continue and find the roots of the corresponding equation, do
not penalize, even if those roots are incorrect i.e., once the correct answer is seen, ignore
further working.

As this is an international examination, all alternative forms of notation should be accepted.
For example: 1.7, 1-7, 1,7 ; different forms of vector notation such as % ,  , u; tan~' x for
arctan x.
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Accuracy of Answers
There are two types of accuracy errors, incorrect level of accuracy, and rounding errors.

Unless the level of accuracy is specified in the question candidates should be penalized once only IN
THE PAPER for any accuracy error (AP). This could be an incorrect level of accuracy (only
applies to fewer than three significant figures), or a rounding error. Hence, on the first occasion in
the paper when a correct answer is given to fewer than 3 significant figures, or rounded incorrectly,
maximum marks are not awarded, but on all subsequent occasions when accuracy errors occur, then
maximum marks are awarded.

(a) Level of accuracy

(i)  In the case when the accuracy of the answer is specified in the question (for example:
“find the size of angle 4 to the nearest degree”) the maximum mark is awarded only if
the correct answer is given to the accuracy required.

(i)  When the accuracy is not specified in the question, then the general rule applies:

Unless otherwise stated in the question, all numerical answers
must be given exactly or to three significant figures.

However, if candidates give their answers to more than three significant figures,
this is acceptable.

(b) Rounding errors

Rounding errors should only be penalized at the final answer stage. This does not apply to
intermediate answers, only those asked for as part of a question. Premature rounding which
leads to incorrect answers should only be penalized at the answer stage.

Incorrect answers are wrong, and should not be considered under (a) or (b).
Examples
A question leads to the answer 4.6789....

e 4.68 is the correct 3 s.f. answer.

* 4.7,4.679 are to the wrong level of accuracy: 4.7 should be penalised the first time this type of
error occurs, but 4.679 is not penalized, as it has more than three significant figures.

* 4.67 is incorrectly rounded — penalize on the first occurrence.
* 4.678 is incorrectly rounded, but has more than the required accuracy, do not penalize.

Note: All these “incorrect” answers may be assumed to come from 4.6789..., even if that value is not
seen, but previous correct working is shown. However, 4.60 is wrong, as is 4.5, 4.8, and these
should be penalized as being incorrect answers, not as examples of accuracy errors.
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Graphic Display Calculators

Many candidates will be obtaining solutions directly from their calculators, often without showing
any working. They have been advised that they must use mathematical notation, not calculator
commands when explaining what they are doing. Incorrect answers without working will receive
no marks. However, if there is written evidence of using a graphic display calculator correctly,
method marks may be awarded. Where possible, examples will be provided to guide examiners in
awarding these method marks

Calculator penalties

Candidates are instructed to write the make and model of their calculator on the front cover. Please
apply the following penalties where appropriate.

(i)  Illegal calculators

If candidates note that they are using an illegal calculator, please report this on a PRF, and deduct
10 % of their overall mark. Note this on the front cover.

(ii))  Calculator box not filled in.

Please apply a calculator penalty (CP) of 1 mark if this information is not provided. Note this on the
front cover.



—7- M03/530/S(1)M

QUESTION 1
x  6.4x10
a Z - M1
(@ y 1.6x10° ™MD
6.4 10’
_ba4 10 M1)
1.6 10°
=4.0x107" (accept 4x107"). (Al)(Al)
Note: Award only (G2) for 0.4 or 4E™', assumed to be obtained from GDC.

(b) y-2x=1.6x10°-12.8x10’ M1)
=(1.6-1.28)x10° MI)
=0.32x10°
=3.2x10’ (A1)(Al)

Notes: Equivalent distribution if converted to 10" earlier.
Award only (G2) for 32000000 or 3.2E’ .
QUESTION 2

(a) C= w (M1)

=10°C. (A2)
(b) Put C=-273 (41)
s0 273 = @ . M1)
Hence 9x 273 =5(F —32) M1)
F =-491.4+32=-459.4 (accept —459). (M1)(Al)
Note: (M1) is for adding 32, even if the other number is incorrect.
QUESTION 3

(a) 3500x0.412 USD =1442 USD (M1)(Al)
1442%x0.98=1413.16 USD (M2)(Al)
OR
3500x0.412 USD =1442 USD M1)(Al)
1442 -1442x0.02=1413.16 USD (M2)(Al)
(accept nearest $ 1413 or 3 s.f. $ 1410).

(b) % =1288.34 M1)(Al)

=1288 MD to the nearest dollar. A1)

(o)

(o)

[8 marks]

(G3)

(C5)

[8 marks]

(C3)

(C5)

(G3)
[8 marks]
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QUESTION 4
() ﬂ:3.2+7.2+x+9.67+17.7+28.0+2.1:10.01. M)
Hence 67.8+x=10.01x7=70.07 . (Al)(M1)
x=70.07 - 67.8=2.27 (accept 2.27 or 2.3 million). M1)(A1) (C5)
(b) Median is the middle value which is 7.2. M1)(A1)
Bangkok. (A1) (c3)
Note: Award (M0)(A40)(A0) for Paris.
[8 marks]
QUESTION §
(a) and (b)
1 2 3 4 5 6
p q PAg —p pvVyq (V@A (=pA=q)
T T T F T F
T F F F T (A1) F
F T F T T F
F F (T)(A42) | (F)(A42) | F Al F (C6)
(¢)  The last column is a contradiction. (A2) (c2)
[8 marks]
QUESTION 6
Note: Award (A1) for each pair of correct entries in parts (a) and (c).
A list of numbers with no set brackets is acceptable.
(a AuB={1,3,4,7,8,9} (A1)(A1)(Al) (C3)
(b) AnBNnC={9} Al) (Cl)
() 4'={2,6.7} (A1)
ANC=1{6,7} (A1)
(AnCYyuB=1{3,6,7,9} (A1)(Al) (C4)

[8 marks]



QUESTION 7
Equation Diagram number
y=c 2
y=-x+c 3
y=3x+c 4
1
=—Xx+cC 1
4 3
QUESTION 8

() AC?=CD?+AD?-2xADxCDxcos(CDA)
=80 +30% —2x30x80 x cos(60°)

AC? =4900
so AC =70 m (units not required)

50 70
b)) —=——
sin(30°) sin(ABC)
sin(AﬁC):le:l
2 50 10

ABC =sin™' [lJ =444
10

Note:  Accept 44°25'+1".
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(42)

(42)

(42)

(42)

(M1)
(AD)
(A1)

(A1)

(M1)

(MI)(AD)

(A1)

(C3)

[8 marks]

(o)

(o)

[8 marks]
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QUESTION 9

(a)
(b)

Game G() Bl iannns AAREY

(c)

The scores are negatively correlated A2)
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Mathematics score

Line must be drawn straight. (Al)
It must pass through (0, 69). (A1)
It must pass through the mean point M =(56.9, 45.9). (A1)
For method shown using intersecting coordinate lines or a mark in the

right place: M1)
51 is closest. Allow 50 or 52 (ft from candidate’s graph). (A2)

Note: Award only (A1) for 49, 53 or for any non-integer between 49 and 52.

Assume that 50.7 is result of linear regression using two required points.
Award (G2).

(G3)

(G3)

[8 marks]
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QUESTION 10

(a)

(b)

y=mx+c
y(0)=80s0c=80. M1)
0-80
m=——=-1 M1
80-0 ML
Equationis y=80—-xor—-x+80,0or x+ y=280. A1)
OR
just S A
80 80
Test the three corners.
P(20,20)=2000, P(20, 60) = 4400, P (40, 40) = 4000 (A1)(A1)(Al])
Make 20 boxes of screws, 60 boxes of bolts. (A2)
OR
Bolts are more profitable, make as many boxes of bolts as possible. (R3)
Make 20 boxes of screws, 60 boxes of bolts. (A2)

Note: Award (C5) for the answer 60 bolts and 20 screws.

QUESTION 11
(a)  Any closed path using four vectors (including possibly back and forth once
or twice) is acceptable. (A3)
(b) LN=LQ+QN (A1)
LQ=PQ (A1)
QN =2 QR (A1)
Hence LN = %(P_Q +QR) (42)
QUESTION 12
(@) PointPisatx=0. Find y(0). Ml)
y(0)=2°+2"° (Al)
—1+1=2 (A1)
() (0, 2) is the lowest point.

Highest points are at x=2orx=-2.
At x=2o0r-2,y=2>+27 =41 or 4.25 M1)(Al)
So the range is [2,44]or2<y<4.25. (A1)(A1)(A1)

Note:  Award (A1) for each inequality (or bracket).

If both inequalities are strict (or parentheses) award (40)(A1)(ft).
Award (A1) for both numbers in order.

(©3)

(G3)

(C3)

(C3)

[8 marks]

(©3)

(C3)

[8 marks]

(©3)

(C3)

[8 marks]
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QUESTION 13
(i)  40000x(1.05)° =51051.26

(i) 51051.26x1%=$510.51 (accept $ 511).

(iii) 51051.26-510.51=50540.75
50540.75-5%2500=9$38040.75 (accept § 38000).

QUESTION 14

(a) Atx=0wehavey=6=c,
SO c=6.

(b) At x=3wehave9a+12+¢c=0
a=-2
OR

at x=—lwehavea—-4+c=0
a=-2

(¢)  Factorisation is y=-2(x—-3)(x+1)
OR

can include 2 and/or sign in a factor.

QUESTION 15
(a)  Sum of internal angles is (n—2)x180=(6—-2)x180=720°
Hence ABC = % =120
(b) OBC=60°

SO Agge = % x 4x2xtan(60°)=6.93 cm’ (units not required)

(c)  Total area of hexagon is 6x A 5.

=6x6.93=41.6cm’ (units not required)
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(MI)(AD)
(MI)(AD)

(M1)(A1)
(MI)(AD)

(M1)
(A1)

M2)
(A1)
M2)
(AD)

(AD(A1(AL)

(A1)(A2)

(MI)(AD)

(A1)

M1)
(A1)(A1)

(M1)
(AD)

(&)
[8 marks]

(&)

(G3)

(©3)

(&)
[8 marks]

(©3)

(©3)

(€2
[8 marks]




	

